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(BAL: EAME. %. AR
4 g F OB | wmoex | wecosE | wemE | ges
AR EREBRPB(ETWMABIEERER) 9,278, 951 9,413, 966 135, 015 1.5
(% 2 E % 8 B # ) @ 944330 | @ 115,210] 170, 879) (1.9)
i p& C] 2 IR * 9,128,875 9,512,844 383, 969 4.2
(55 E K ILA R B H) | ©630623] 030280 12208 0. 1)
(5 5 I AL KFBKH#) (334, 613) (298, 754) (A35, 859) (A10.7)
2 (] 5| 2 =1 A 7,566, 296 8, 038, 554 472, 258 6.2
(5 5 E K X I BK £ ) * (4,702, 217) (5, 324, 169) (621, 892) 13.2)
( 5 B £ A & B ) (455, 071) (478, 831) (23, 760) (5.2)
L (5 BHERFHHEHRUVESE) (1, 454, 449) (1, 445, 836) (A8, 613) (AO0. 6)
(5 5 % 8 B B & ) (7158,782)|  (675,03)| (A83,750)| (A11.0)
" (52 b X Hh F &£ 8B AN 8 ) (82, 045) (47,128) (A34,917) (A42.6)
Tl (SEERERLBA(ARA)E) (a159,201 | (a610,947)| (A451,740) (-)
& E bt A IR * 754, 2917 846, 813 92,516 12.3
| (3>HBRURZ2MA) 525,565  (574.319)| (48, 754) ©.3)
(52 b F i 5fF % 5% #H & ) (345, 769) (391, 307) (45, 538) 13.2)
& B b2} A =1 A 153, 241 101,918 Ab1,323 A33.5
% (52 b F i 5f % & # # ) (35, 282) (31,127) (A4, 155) (A11.8)
(5 % %5 f & % F @ 8 ) (78, 008) a5, 780|262, 21| (a79.8)
¥ X E R U — B FTF EEB 1, 357, 898 1, 362, 351 4,453 0.3
(35REREIZICRIELEBERV—BREEE) (1, 280, 673) (1,278, 858) (A1,815) (AO0. 1)
% D fib #® w ;=] * 6, 467 7,505 1,038 16. 1
= w F = 812, 181 864, 339 52,158 6.4
( ®& B 35l Z WM O Fx ) 0w (279, 822) (192, 608) (A87,214) (A31.2)
(& E & B 8 #~ % ) * (601, 046) (744, 888) (143, 842) (23.9)
LCllE=3 Fl F = 99, 992 40, 047 AbB9, 945 AbB9. 9
féj % Al 8 ® 82, 551 41,035 A41,516 AB0.3
= Al 8 = 17, 441 A988 A18, 429 A105.7
b3 5] B =] A fii F = 829, 612 863, 345 33,733 4.1
i A i % & it 151, 259 186, 838 35,579 23.5
=] A it F = 678, 344 676, 498 A1, 846 AO. 3
= [ = E 61.5 69. 1
k(= E S & ;6 32.6 32.5
FERABY (A HLAEY) 223 2,46
~ |#& w IR = 9,923, 312 10, 402, 828 479, 516 4.8
S|l (= 0 1 & & W % ) (40, 117) (43, 144) (3,027) (7.5)
Z |8 w B A 9,111,125 9, 538, 476 427, 351 4.7
M1 F O # & B OB A ) (33, 650) (35, 620) (1,970) (5.9)

*1 ERRIR A RIRH = TR IERRIRH + 2B IERRIRN — B IERRIRR
*2 EMRIZILMRIRE =T RERRIRE + ZHEKRRIRE - BIRERIRE

*3 RIRS|IZFE=RIR5IRNE— RIS IR EA - RIR5Z
ERIEF ISR DEATRBLES,

ZTOMRZIFEBERERESR
4 BEERMNE=EEERRE - EEERER
*5 BEER= (EGRIILRIRE+HRERER)
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*6 BEXEE= (EFHUHRVELE+RBRIIZICRIEEERV—REER) - ERIRARER
(BfI : fBA. %. ARE)
FR29EER | FRS0EER LRI BimE
" & B 7% = 323,144 315,108 A8, 036 A2.5
*x $h i = % = 35, 661 36, 130 469 1.3
' = # L Ei & = 162, 335 156, 226 A6, 109 A3.8
il & 3 % = 80, 139 16, 711 A3, 368 A4 2
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